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(Vs)br =7

AL 620 x 107 9% 3
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he screen 100'cm away. =~ -
TN  Wavelength A = 589.2 nm =589.2x 10° m
d=1mm=103m L=100cm=1m m=1
(Y1) ar =2 (Y1) or =2
Since WAm=Un+9l1/d=u+aLA/d==§Llld

3 1x589.2x107°

W) e =5 % 10-3

=8.838 ¥ 10™*m

1 x589.2 x 10~°

-5892 x 107*m
103

And  (yy)pe=mlLA/d=

parallel slits are illuminated by light of ty
m. On the screen the fourth dark

he light of unknown

m1=4 my=5

(va) ar = (ys) br

. (m1+—;-)L11/d=mzl.lz /koracademycom

“*%)Lh/d:suz /d

(9/2) 4, =5 4,
,=(9/5x2) A, =(9/5x2)x58% 1077 m
4,=52% 10" m

teris mo ed 0.1 mm. How

vn:’:en the movable mirror of a Michelson interferome 80 nm is used.
Wdark fringes pass the reference point, if light Q[Aqu_glqng.l_ﬁ--- ~ m=?
] Pz01 m.x0 A=580 nm=580x10' m m:-

P=ma/2 '
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Chapre e

-3 )
203 %107 _ 345 fringes
= m=2P/A= 590)(10"3

'a Michelson interferometer is moved in one
r; vass through the field of view when light of

5 When the movable _mirror 0
hat is the distance through which the mirror

actio i ypear
direction, 400 fringes_ a ‘
wavelength of 500 nm:is used. W

145 heen. moved) 00 nm = 500 X 10-°

m m = 400 fringes A =3

B Distance moved the mirror P =?

400x500x107% o 04 - 0.1'mm
Since P=mAi/2= 204 =1.0

ndex of 1.40."Ho

mercury llght of wavelength !

=1 A=5061x10"7m t=7?
2nt=mA4

mA  1x546.1x107°

= t= = =1.95x 10~ m
__2x14

Ref. index of airn; = 1

Ref. index of glass n,= 1.55
Polarizing angle =i, = ?

taniz=n;/ m din-a:medium whose index o

ip= tan-l (ﬂz/ nl) e - A -
: refr ,
ip= tan! (1.55/ 1) = 57° action is n. Where 4 _is

tHe wavelength of the lightin

A=589nm= 589109

= x 10
d=1cm/5000=1x10‘2m15000 "
d=0.2><10"m/line
dSinB=m 2

Since
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A=dSinB/m
1= 3X107°x 02079
2 =4158 x 1p-10 m

d=2.8x 10¥%m

since; mA=2dSind
1< 2d Sin @ _2X2.80x10" 109§y 50
= — " =0.49 X 10¥ m

Layer spacingd =?
A=0.48x10"1"m

8 =20°
2dSinB=mA
ma 1x048x 1010
d= = . =0.70 x 10¥m
2Sin0 2xXS8in20°
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